In the monopoly case against Microsoft, the major “abusive” practice was the licensing system imposed by Microsoft when it first faced competition from Digital 

Research and IBM in the late 1980s.  It imposed Per Processor licenses under which a computer manufacturer is charged a fixed fee for the right to install Microsoft’s operating system on any computer using a particular processor chip.

1.  Explain the competitive impact of Per Processor licenses on a new entrant such as Digital Research.

2.  Microsoft also claimed that its use of per-processor contracts as its attempt to deal with pirated software.  Does Microsoft’s argument make economic sense?  What empirical facts might be used to distinguish between a raising the cost to Digital Research explanation that was explained in 1 above and Microsoft’s piracy explanations?

3.  Microsoft also claimed that the evidence indicated that it had little market power.  Microsoft first pointed out that an OS is valued only because it runs a PC and that if MS had substantial market power (in that there were no good alternatives to using a PC with an MS OS) it would effectively control the pricing of PCs.  Microsoft charged about $50 to an OEM for Windows which was incorporated into a PC that sold for about $2000.  Assuming the assembly of PCs is relatively competitive, this implies an elasticity of demand for Microsoft of about -20 (P/MC=Ed/(Ed+1); $2000/$1950=-20/-29).  Hence, Microsoft’s pricing appears to indicate little market power.  Do you agree? 

4.  Finally, Microsoft argued that even if barriers to entry were increased by per processor licensing, there were offsetting efficiency impacts since the per processor license results in the efficient zero marginal price.  Is zero the efficient price for software?  What is the competitive price of software?  Can a private economic system achieve the competitive price of software?

